
217 BEARING HOUSING SPACER ARRANGEMENT SHOWN
USE THREE ADJACENT HOLES FOR 215 BEARING HOUSING

SCALE 1/8

SCALE 1/8

SPACER, GUARD, 2.25" 10"3K200-0433913
BRACKET, SUPPORT, DRIVE GUARD, SGL 10"1K200-0415212
STUD, THRD HR 3/8-16 X 5.50"1K200-0287811
GUARD, MOTOR SHEAVE, DRIVE GUARD SINGLE 10"1K200-0287710
COVER WLDMT, DRIVE GUARD, SGL RH RF, 10"1K200-028729
BACK PLATE WLDMT, DRIVE GUARD, SGL RH RF, 10"1K200-028698
CPLG, STL HEX 3/8-16 X 1.75"1700100137
NUT, HEX SERR LOCK 3/8-161667844006
NUT, HEX SERR LOCK 1/4-206667833005
WASHER, LOCK HELICAL 3/8"4664444004
HHCS, SERR WASHER HEAD, 5/16-18 X 3/4"10656838173
HHCS, 3/8-16 X 3.75"3625844492
HHCS, 3/8-16 X 3/4"1625844171

DESCRIPTIONQTYPART NUMBERITEM

1

1

2

2

A A

B B

4/28/2010 1:17:15 PM Last Saved By dmjohnson 
TimeStamp

Reference File: 
C:\TEMP\acf05d04-a007-4294-955b-b8b21d04338a\Inventor 
Files\Ferrell-Ross\K100-01700-1799\K100-01764.iam

K1
00

-0
17

64

CAD
NO MANUAL
CHANGES

TOLERANCES
EXCEPT AS

NOTED

FRACTIONAL:

ANGULAR:

FINISH:

TITLE:

DATE:

SCALE: DRAWN BY:

SIZE: SHEET:PART NUMBER:

APPROVED BY:
DIVISION OF A. T. FERRELL COMPANY BLUFFTON, INDIANA - USA

DECIMAL:

pggalea DMJ0.19:1

GUARD ASSY, DRIVE, SINGLE RH RF 24.2-27.3", 10"

7/24/2008 D K100-01764 of1 1 

xxx ± .005
xx  ± .030

± 1/32

± 1/2

NONE

This drawing is the
property of the A.T.

Ferrell Company, Inc
and must be returned

immediately upon
request.  No part of this

drawing may be
reproduced, stored in a

retrieval system or
transmitted in any form

or by any means,
without prior written
consent of the A.T.

Ferrell Company, Inc 

NOTES:
1. DO NOT SCALE FROM DRAWING.
2. ONE PIECE REQUIRED PER MILL ASSY, SINGLE RH RF, 10".

(3
8.

50
)

(50.86)

8

12

10 12

8
11

7

2413

5

12

10 5

14

6

5.69

132

8

6 11

2

13

9

12

9

10

(3
9.

04
)

9

8

12

10

8

3

3

11

13

2

3333

3

3

(11.57) OUTSIDE (.120)

3

REVISION HISTORY
REV ECN DESCRIPTION DATE APPROVED
A K990047 RELEASE 7/19/1999 dmjohnson
B K990056 REDESIGN COVER & BACK PLATE, ADD K200-02878 & K200-04151 8/2/1999 dmjohnson
C K990067 REDESIGN K200-02878 TO FIT 215 & 217 BRNG HSG'S 8/31/1999 dmjohnson
D K080120 REDESIGN K200-02869 7/28/2008 pggalea
E K100117 65683817 WAS 62583817, 66404400 & 66444400 (13X), 66784400 WAS 66084400 & 66444400, ONE SHEET WAS TWO 4/23/2010 dmjohnson


